U

VA A HERIRER

#AEES 008

BiEE 2022/09/18
2022 ERAFAS/ N\ L—R—LEBRUF Y — BRI 235 WAERERAS

ptEt FFITH

#HEY

JURY :

F—L

b | B | 1 2 3

[=R-]
BHSARERS : 1500 F H: KR F& REEX% 3 2 25 25 25 75
BTERY . 16:07 Bl FE: @I BT HEEIRKRE 0 1 11 12 10 33
HMARE:  01:07 HES: Tl EHE HAFR| 00:22 | 00:21 | 00:18 01:01
'}_g" Pt e '}_\LI
EEXE VS mEPETEKRE
1set 2set 3set 4set bset 1set 2set 3set 4set bset
19 17 2019 17 20 19 17 20 B OB 3 2 1.3 2 1.3 2 1
(16) a—F
1 12 181 12 18 12 18 1§08 & " 0% 18K 4 5 6|4 5 6 4 5 6
(16) 2 B = 1
i i i i i BALTY 5o > &l : .
B FIE Ba E= BT R TH& [ EX= ST
RIEE (%) 48.7 113 55 3 Rk 130 23 1 17.7 RIEE (%)
REE (%) 0.0 2 0 0 (RN T7HRYY) 23 3 3 13.0 REE (%)
v FEH(R) 0.00 — 0 — Jowvy — 0 — 0.00 vy FEH(R)
SR (%) 7.0 75 2 1 H—7 33 3 4 12.1 SR (%)
ARIIEE (%) 50.0 — — — H—JLi—J — — 67.1 AR IIEE (%)
F—LTHI b+ 3 — 18 — HFOIR — — 3 F—LTHIE
188 75 4 &5t 163 33 15
Histy b PV RNV ITEYY) Jovy H—7 H$—JLI—7J
Hy R 5 R M 3 AR A
EEKYE = I I Yol ok C g Y |18 xm 2 21 I
1 2 3 4 5 E k E b L] I I
7 ¥ RR & Fo(HRA F (R o3 RRARR F |B_. . &
3] )
1 E# £A 3 m mm 412 0 500 0.67 |0 0 0 = 0 = 1m0 0 1 23 |0 0 o0 =
12| ¢ WE ®Z2E 3 mmm 20 14 0 70.0 467 |0 0 0 - 0 w102 107 [0/0 0 -
16 @ & 2 O o 00 o0 = = 00 o0 = 0 = 4.0 0 1 6.3 |0 0 0 =
17 WE Em 3 mmEm 33 121 36.4 40 (o0 0 - 0 - 500 02 33 |2 1 1 750
18 TH B 3 m Em 1880 444 267 |10 0 00 |o - 8 0 1 2 31 6 2 2 500
19 @ M 3 m Em 35 19 2 | 543 633 |10 0 00 |o - 6 0 0 1 4.2 7.2 2 429
20 Bk H3 3 m Em 3.0 0 00 000 |0 0 0 - 0 - 171 0/5 132 [0 0 0 -
21 | L #F tE= 3L L L 00 0 - - 00 0 - 0 - 0 0/0 0 - 135 3 500
F—LA&F 3 13/55| 3 | 48.7 1833 [2/0/0/| 00 |oO - 7% 2 114 7.0 |28/ 10/ 8 500
Histy k &PV RNV ITEYY) Javy H—J H$—JLi—J
H # 5 # M ) B g
RHEERY o - IE I O E - I B Y T/xwm 2 |2umw
2234 % mak B L |lmrR £ & L |lwRRz F (.. 2
] 1 7 R
1 C RE %B 3 mEm 10 1 1 100 033 [0 0 0 - 0 - 8 1,3 3 125 |15 8 3 633
2 =48 T8 3 m mm 10/ 0 0.0 0.00 |0 0 0 - 0 4 10 1 3.3 |1 0 0 00
3 i 3 m mm 59 10 7 16.9 3.3 |8 1 2 125 |o = 5 0 0 2 100 |9 4 2 556
4 EGE 05 3 mEn 51,0 200 0.33 |0 0 0 - 0 - 5 1,1 1| 20 |10 5 2 600
5 IR A 3 m mm 410 0| 00 000 |O 0 0 = 0 = 6 0 0 1 42 |30/19 9 783
6 BX 4 3 m mEm 51 113 216 3.67 (152 1] 133 |o - 5.0 0 0 00 |84 2 625
F—LA&E 3 130 23|11 17.7 7.67 (233 3 130 |0 - 333 4 8 121 |[73]40 /18] 67.1

Xty b=y . B=RE4—T 15 0nN— O=%KEF L=YA0O

TRy IRERE (X) =BR+HBEY b
Y=L I—TRUE (%) = (FRHE] x 100+ [R] x50) +3T#

TEYYVREE (%) =FR--FTHx100 TRYIRERYE (F) =KRATHBEEY M
Y—THRE (%) =(H—EXT—Xx100+3F x 26— %A x25) +iTH

KAEDEEEE. ABUFEABRNL—R—LBRITRELES,



